Equilibrium 2 Name:
Period: ﬁéy
2 HF(g) == Ha(g) + Fagg)
1) A7.57 gram sample of HF liquid is placed in a sealed 2.50L container. The container is
heated to 350K and the liquid first boils and then begins to break down according to the
equation given above.
a) If no decomposition had occurred what would be the pressure of the HF gas?
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b) The equilibrium constant for the decomposition at 350K, K, is 4.85¢10-3, Write the
equilibrium expression for. the reaction.
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d) What will be the total pressure in the container at equilibrium? @ L0 2?5 = L B2
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